Sentence Transformation - Intermediate Level Test 01

Questions

1.

It isn't necessary to shout.

It is pointless (= not necessary) to repair that old typewriter.
--> That Old tYPEWIITEr .......cviiieieciceee e

It isn't necessary to make an appointment to see the bank manager.
==> THEIE'S NO...ocvieiec e e

In the event, the extra insurance we took out wasn't necessary.
--> [n the event, We NEEAN'.........oovcveeviieciie e

It's not necessary to have any previous experience to apply for the job.

=3 Y OU AONT NAVE. e

I think it may rain.
--> [t looks as if.........ccce...e.
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7. The house may have been occupied for several months.
--> [t 1ooKed @S if.....ccovviiiiieece e

8. It may solve my problem, but I just haven't had time to read it.
=-> Perhaps It ....ooiiiiiiieeee e

9. If I'm lucky I may get the job I've applied for.
== THEIE'S...ee et

10. The strikers may go back to work next week.
=>Anall. .,
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